Anx-B.report.xlsx

Company	MHPL SOV		Name of contractor	Sandeep Ku	mar Nishad Sl	. No. site bil	ls reg.		1456
Project/site			Dt. site bills reg.		20-01-				
Block no.	ock no. V.93,170,177,179,200,205 & 99-2B		Work done from date	I U		M-codex bill ID.			
WO no.	NA		Work done to date	18-01-2025 WO		WO issued ?		N	
WO date	NA		Contractor bill no.		G	ST bill requi	red?		
Sl. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
1	Villa no.192 & 205	Main	n door First Coating		2.00	Nos	PT150	1,000.00	2,000
2	V.No.93,170,177,179,200 &	992B Main	n door Final Coating		6.00	Nos	PT150	1,600.00	9,600
3	Table polish		den tables polishing		36.00	Sft	PT148	37.00	1,332
4	1		1 0						
5									
6									
7									
8									
9									
10									
10		L						Total	12,93
							Add GST @	0.00%	
					Total	amount inc	luding taxes fo	r work done	12,93
	DV								
Remarks:	PPROVED BY		Approved by QS team		F	Approved by	Director/E&D	team	
Approved by	project manager		Sign:	Sign:					
Sign:	20 JANE		0	Deta					
Date:	HIRSYSTHAM (III)			med 3 Use this for	m even if work order is	not issued. 4. A	ttach measurement	and estimate sheet	s only if required i.
Notes: 1. This shee	et replaces in in the white vitage and advice inter wange in the white vitage in the advice nier data above. 5. For bill amount greater	than 10k OS manage	er and directors approval is require	ed. 6. For bill amou	nt less than 10k any Q	S team member	may sign and in plac	e of director sign	of respective E&D
letails cannot bee	n. 7. Director include – Soham, Anand I	Mehta (for GHT + G	MR), Sachin (for Vivopolis), B. a	nand Kumar (for NO	GH + NRK). 8. Entry	of rate ID is man	idatory. 9. This shee	et must be sent with	iin 2 working days
nember to be taken	n. 7. Director include – Soham, Anand I with or without contractors bill). 10. Co	ntractors to send scar	nned copy of bill to site and QS by	y email. 11. Contrac	tors must submit origi	nai dills at HO (can be sent by court	ci j.	

MEASU	REMENT SHEET								
Company Project: Work De	y Name: escriptio n: or Name	MHPL SOV SOV-III Main Door Polish Sandeep Kumar Nishad K. Tulasi Rani				Approve Sign:	ed by:		
S No.	Item Head	20-01-2025 Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
1	Main Door	First coating V.no.192 & 205	1.00	1	1.00	2.00	2.00	nos	
2	Main Door	Final coating V.no.93,170,177,179,200 & 99-2B	1.00	1	1.00	6.00	6.00	nos	2.00
3	Table Polish	Wooden Tables Polishing	5.00	1.00	4.00	1.00	20.00	Sft	6.00
			4.00	1.00	4.00	1.00	16.00	Sft	
									36.00

36.00 Sft 37.00 1,332.00



TE SHEET						
y Name:	MHPL SOV					
	SOV-III					
escription:	Main Door Polish					
	Sandeep Kumar Nishad					
l By	K.Tulasi Rani					
	20-01-2025					
Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
Main Door	First coating V.no.192 & 205	2.00	nos	1,000.00	2,000.00	
Main Door	Final coating V.no.93,170,177,179,200 & 99-2B	6.00	nos	1,600.00	9,600.00	
Table Polish	Wooden Tables Polishing	36.00	Sft	37.00	1,332.00	
						12,932.00
	Total Amount in words : Twelve Thousand Nine I	lundre d Th	irty Two	Rupees on	ly	
	y Name: escription: The Contractor I By Item Head Main Door Main Door	y Name:MHPL SOV SOV-IIIescription:Main Door PolishTable PolishSandeep Kumar NishadMain DoorK.Tulasi Rani 20-01-2025Item HeadItem DescriptionItem HeadItem DescriptionMain DoorFirst coating V.no.192 & 205Main DoorFinal coating V.no.93,170,177,179,200 & 99-2BTable PolishWooden Tables Polishing	y Name: MHPL SOV SOV-III sov-III escription: Main Door Polish The Contractor Sandeep Kumar Nishad I By K.Tulasi Rani 20-01-2025 20-01-2025 Item Head Item Description Main Door First coating V.no.192 & 205 Main Door Final coating V.no.93,170,177,179,200 & 99-2B Main Door Final coating V.no.93,170,177,179,200 & 99-2B Table Polish Wooden Tables Polishing	y Name:MHPL SOVImage: SOV-IIIImage: SOV-IIIescription:Main Door PolishImage: SOV-IIISourceSandeep Kumar NishadImage: SourceThe ContractorSandeep Kumar NishadImage: Source1 ByK.Tulasi RaniImage: Source20-01-2025Image: SourceImage: SourceItem HeadItem DescriptionQuantityMain DoorFirst coating V.no.192 & 2052.00Main DoorFinal coating V.no.93,170,177,179,200 & 99-2B6.00Main DoorFinal coating V.no.93,170,177,179,200 & 99-2B6.00Table PolishWooden Tables Polishing36.00Sft	y Name:MHPL SOVImage: SoV-IIIImage: SoV-IIIImage: SoV-IIIescription:Main Door PolishImage: SoV-IIIImage: SoV-IIIthe ContractorSandeep Kumar NishadImage: SoV-IIIImage: SoV-IIIByK. Tulasi RaniImage: SoV-IIIImage: SoV-III20-01-2025Image: SoV-IIIImage: SoV-IIIItem HeadItem DescriptionQuantityMain DoorFirst coating V.no.192 & 205Image: SoV-IIIMain DoorFinal coating V.no.93,170,177,179,200 & 99-2B6.00nosMain DoorFinal coating V.no.93,170,177,179,200 & 99-2B6.00nosTable PolishWooden Tables Polishing36.00Sft37.00	y Name:MHPL SOVImage: SoV-IIIImage: SoV-IIIImage: SoV-IIIcscription:Main Door PolishImage: SoV-IIIImage: SoV-IIICher ContractorSandeep Kumar NishadImage: Source IIIImage: Source IIIThe ContractorSandeep Kumar NishadImage: Source IIIImage: Source III1 ByK.Tulasi RaniImage: Source IIIImage: Source III20-01-2025Image: Source IIIImage: Source IIIImage: Source IIIItem HeadItem DescriptionQuantityUnitsRateMain DoorFirst coating V.no.192 & 2052.00nos1,000.00Main DoorFinal coating V.no.93,170,177,179,200 & 99-2B6.00nos1,600.00Main DoorFinal coating V.no.93,170,177,179,200 & 99-2BImage: Source IIIImage: Source IIII



Bill for Labour Charges

SANDEEP KUMAR NISHAD Polishing Work H.NO,1-57/19/3,Rajeev Nagar Gachibowli Secunerabad

Date : 20-01-25

In favor of:	MHPL SOV
Project / Site:	Silver Oak Villas -III
Location:	Cherlapally
Type of Work:	Polishing work
Towards:	Labour Chrages

S No.	Description	Amount
1.	Brief description of work done:	
	Towards V.no.192 and 205 first coat Polishing work and	Rs .5,173/-
	final coat polishing work at villa No.93,170,177,179,200	
	& 99-2B Total amount =12,932/	
	Work done From date :15-12-24 To date : 18-01-25	

Amount in words: Five Thousand One Hundred Seventy Three Rupees Only/-

Sign:

Bill for Consumable Charges

SANDEEP KUMAR NISHAD Polishing Work H.NO,1-57/19/3,Rajeev Nagar Gachibowli Secunerabad

Date:20-01-25

In favor of:	MHPL SOV
Project / Site:	Silver Oak Villas-III
Location:	Cherlapally
Type of Work:	Polishing work
Towards:	Allowance for Consumable Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards V.no.192 and 205 first coat Polishing work and	Rs .2,586/-
	final coat polishing work at villa No.93,170,177,179,200	
	& 99-2B Total amount =12,932/	
	Work done From date :15-12-24 To date : 18-01-25	

Amount in words: Two Thousand Five Hundred Eighty SIx Rupees Only/-

Sign: _____

Allowance for Equipment SANDEEP KUMAR NISHAD Polishing Work H.NO,1-57/19/3,Rajeev Nagar Gachibowli Secunerabad

			Date: 20-01-25
In favor	of:	MHPL SOV	
Project	/ Site:	Silver Oak Villas-III	
Location	n:	Cherlapally	
Type of Toward		Polishing work Allowance for Equipment	
S No.		Description	Amount
1.	Brief des	scription of work done:	

1.	Brief description of work done:	
	Towards V.no.192 and 205 first coat Polishing work and	Rs .5,173/-
	final coat polishing work at villa No.93,170,177,179,200	
	& 99-2B Total amount =12,932/	
	Work done From date :15-12-24 To date : 18-01-25	

Amount in words: Five Thousand One Hundred Seventy Three Rupees Only/-

١

Sign: _____